20138 63 Y==2 & A 48 A
83+ 38 AMESE
7l by S 2FEZ DaE &832 27
RS 063) 260-4152 <& A R2g>
=2 R 2013.06.03
2 AN 2(13.06.05 ~ 06.13
=+ | &t = (=55 A& H ji: #03 B L2 =
1 |2k 2 ciu/mL 100018} 0 0 0 0 o}
2 [BUEA2 (Total Colitorms) ND/mL ND/100mL 2HE =HE BHE 2HE 2HE
3 |EREUEZT (Fecal Coliform) ND/mL ND/100mL
4 |GED ND/mL ND/100mL aEE BHE 2HE 2H4E 2dE
5 (&t {Pb) mg/L 0,010 8¢ HEE EHE =& SHE =EE
B (B4 (F) ma/l 1.50151 BHE =HE EHE 2HE =HE
& |7 {6l (As) 7 mgfL 0,010]5} EHE 2HE 2HE s2UE =d&
g 8 |Klds (Se) mg/L 0.010]3} =HE 2HE 2HE =HE HYE
g |8 [+ [Ho} mg/L 0.0010I5t 2HE 2HE =HE =HE BHE
£ [10[AleH{CN) ma/fL 0.01018} 2gE 2HE =HE EHE BHE
g TIEE mg/l | 005013 | EEE B BEw HE oy s
& [12|22LI0HEE 2 (NHyN) ma/L 0.5015t BHE =HE =& 2HE 2Ys
(11) o2& EH A (NOy-N} mg/L 10018t 1.2 1.2 1.2 1.3 1.2
14|3IE8 (Cd) ma/l 0.0050]5} EHE =2HE 28E 284S 2HE
15[B2(E4, B) ma/L 1.001851 2HE =R =dE & BHE
16{ 0= (Phenol} mg/L 0.0050i 6} 2HE =HE =dE =HE EHE
17 |CHOIOLAL = (Diazinon) mg/L 0.02018} =HE EHE EHE =HE =28E
18|t 2tEI 2 (Parathion) mg/L EHE sdE
19| HILI EZ2E|& {Fenitrothion) ma/L 2HE =dE
20|ZHHL 2! (Carbaryl) 2HE 2%
7 (21[111-E2IS2Z0E 2HE =HE
g z|pEnzzzog 2UE s
g |23 |ECIZZ2 2018 & (Trichloroethylene) =2HE ]
7 |24|CI2 220 E{Dichloromethane) == e
;! 25 @ (Benzene) 101 22F EuE
& 26|23 (Toluene) Q.70[5F sHE =&
(17} |27 |o1=2 8 E {Ethylbenzene) 0.3015} Y& BUE
28|34 (Xylene) _.0,5018t_ S . EHE BHE
20{1.1CI2Z20E “o'o3biEE L e R SR EHE EHE
30| A B EHA (Tetrachlorocarbon) 0.0020I8} sSHE =& Er=l 2HE
3. 2-C2E2R-3-2E22X=1 0.0030| 8t BHE =k 5HE 283%
3z|1,4-Cio) =& (1,4-dioxane) 0,050[ 8} 2HE 2HE =HE =1
33|82 &R A (Residual Chlorine} 4.,0015} 0.55 0.24 0.53 0.24
A |34|BERI# 26 EH{Trihalomethanes) 0,108} 0.017 0.019 0.020 0.019
= |gs{=2ERE (Chioroform) 0.0803} 0.012 0.013 0.014 0.013
N [se]=z=0szzue 0.03013H 0.004 0.005 0.005 0.005
A |37|CiE2REZENE 0,103t 0.001 0.001 0,001 0.001
f 38} 225101 =8 01E(Chloralhydrate) 0.030161 0.0024 0.0030 0.0026 0.0037 0.0032
1; 39(CIEER2OHELIER 0.1018&} =d& EUE BHE gH# HHE
gz |swjc2RER0MEUHE 0.0901 &} 0.0010 0.0011 0.0010 0.0013 0.001
(i0) |41 |=2i=220HELIER 0.0040! 5 45 243 2E 2ys HYyE
42 |2 20l HIE 0l A S (Haloaceticacid) 0,10[8t 0.008 0.012 0,013 0.012 0.016
43| AL {Bardness) 300015t 33 | 32 30 29
44| DUt S LB AU B 10018t 1.5 1.4 1.6 1.5 1.6
45| (5212 HA) ND 2= 2 = i 8= e
48[ {2 =29 o) ND s = =4 5 =
47 |= {Cu} 1018t 2HE =2HE =HE =HE EHE
& 48| (Color) 50|58t EEHE 2EHE =g =HE 2HE
,UJ 49| HIH (SoI2H e ) 0.5018} =& =HE =2HE SHE R
o [50|+20125E5 (pH) 58785 6.9 6.9 7.0 6.9 7.0
8 |51|ore (zn) 3013t 0.003 EE-T =& 0.007 0.016
g 52|02 (C) 25008} 10 10 10 10 10
(16) |53 |BYUEEE 500015t 56 52 56 56 57
54 |8 (Fe) 0.30151 2HE E2HE EH#E =H8E 0.05
55|42t {Mn} 0.0501381 2HE EHE HHE BEE =UE
56|EtE (Turbidity) 0.501 8t 0,06 0.08 0.06 0.08 0.06
57201 (50,9 20001 & B 6 6 6 6
58(R0lE (Al 0.20I5t 2Y4E 2AE HH & BUE sEHE
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